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1. Match List I with List II :

List –I (Compound) List –II (Shape)

A. BrF5 I. bent

B. [CrF ]6

3–
II. square pyramidal

C. O3
III. trigonal bipyramidal

D. PCl5 IV. octahedral

Choose the correct answer from the options given below :

lwph &I dh enksa dk feyku lwph & II dh enksa ls dhft,A

A. BrF5

B. [CrF ]6

3–

C. O3

D. PCl5

lwph –I ( );kSfxd lwph –II ( )vkd`fr

IV. v’VQydh;

III. f=dk.kh f}fijkfeMh

II. oxZ fijkfeM

I. cafdr

uhps fn, x, fodYiksa esa ls lgh mÙkj pqfu,  :

(1) A - I, B - II, C - III, D - IV (2) A - IV, B - III, C - II, D - I

(3) A - II, B - IV, C - I, D - III (4) A - III, B - IV, C - II, D - I

Question ID:100161

Ans. Official Answer NTA (3)

Sol. (A) BrF
5
 – square pyramidal

(B) [CrF
6
]3– – octahedral

(C) O
3
 – bent

(D) PCl
5
 – trigonal bipyramidal



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 26 July  Shift-1

Page No. 3

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

2. Match List I with List II :

List –I
(Processes/Reactions)

List –II (Catalyst)

A. 2SO (g) + O (g)  2SO (g)2 2 3

B. 4NH (g) + 5O (g)  4NO(g) + 6H O(g)3 2 2 II. Pt(s) – Rh(s)

C. N (g) + 3H (g)  2NH (g)2 2 3 III. V O2 5

D. Vegetable oil( ) + H   Vegetable ghee(s)l 2  IV. Ni(s)

Choose the correct answer from the options given below :

lwph &I dh enksa dk feyku lwph & II dh enksa ls dhft,A

A. 2SO (g) + O (g)      2SO (g)2 2 3

B. 4NH (g) + 5O (g)      4NO(g) + 6H O(g)3 2 2 II. Pt(s) – Rh(s)

C. N (g) + 3H (g)      2NH (g)2 2 3 III. V O2 5

D. ( ) + H           (s)ouLifr rsy l 2 ouLifr ?kh IV. Ni(s)

lwph –I ( )izde@vfHkfØ;k,¡ lwph –II ( )mRizsjd

uhps fn, x, fodYiksa esa ls lgh mÙkj pqfu,  :

(1) A - III, B - I, C - II, D - IV (2) A - III, B - II, C - I, D - IV

(3) A - IV, B - III, C - I, D - II (4) A - IV, B - II, C - III, D - I

Question ID:100162

Ans. Official Answer NTA (2)

Sol. (A) 2SO
2
(g) + O

2
(g) 2 5V O  2SO

3

(B) 4NH
3
(g) + 5O

2
(g)    Pt s Rh s

  4NO(g) + 6H
2
O(g)

(C) N
2
(g) + 3H

2
(g)  Fe s

  2NH
3
(g)

(D) Vegetable oil(I) + H
2
  Ni s
  Vegetable ghee(s)
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3. Given below are two statements :

Statement I : In Cl
2
 molecule the covalent radius is double of the atomic radius of chlorine.

Statement II : Radius of anionic species is always greater than their parent atomic radius.

Choose the correct answer from options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

uhps nks dFku I rFkk II fopkj ds fy, fn, gSaA

dFku & I : Cl
2
 v.kq esa lgla;ksth f=kT;k Dyksfju dh ijekf.od f=kT;k dh nks xquh gSA

dFku & II : _.kk;uh Lih'kht dh f=kT;k lnk mudh ijekf.od ewy f=kT;k dh vis{kk cM+h gksrh gSA

uhps fn, fodYiksa esa ls] mijksDr dFkuksa ds fy, lokZf/kd mfpr mÙkj pqfu,A

(1) dFku &I rFkk dFku  II nksuksa lgh gSaA

(2) dFku & I rFkk dFku & II nkuksa xyr gSaA

(3) dFku &  I lgh gS ijUrq dFku & II xyr gSA

(4) dFku &  I xyr gS ijUrq dFku & II lgh gSA

Question ID:100163

Ans. Official Answer NTA (4)

Sol. In Cl
2
 molecule, the covalent radius is half of the internuclear distance, so statement(I) is false.

For the same element, anion has lower effective nuclear charge than atom  so anion is larger than atom. 

statement (II) is correct.

4. Refining using liquation method is the most suitable for metals with :

(1) Low melting point (2) High boiling point

(3) High electrical conductivity (4) Less tendency to be soluble in melts than impurities

nzkoxu fof/k dk mi;ksx mu /kkrqvksa ds ifj"dj.k ds fy, lokZf/kd mi;ksxh gS ftudk@ftudh %

(1) Xkyukad U;wu gSA (2) DoFkukad mPp gSA

(3) oS|qr  pkydrk mPp gSA (4) v'kqf);ksa dh vis{kk xfyr esa ?kqyus dh izo`fr de gksrh gSA

Question ID:100164

Ans. Official Answer NTA (1)

Sol. Liquation is used to purify metals having lower melting point than impurities present in them.
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5. Which of the following can be used to prevent the decomposition of H
2
O

2
 ?

(1) Urea (2) Formaldehyde (3) Formic acid (4) Ethanol

fuEufyf[kr esa ls fdldk mi;ksx H
2
O

2
 vi?kVu jksdus ds fy, djrs gSa ?

(1) ;wfj;k (2) QkesZfYMgkbM (3) QkfeZd vEy (4) ,FksukWy

Question ID:100165

Ans. Official Answer NTA (1)

Sol. H
2
O

2
 is not kept in glass container because traces of alkali metal ion from glass can catalysed explosive

decomposition of H
2
O

2
. So it is stored in plastic or wax lined glass container with some urea or glycerol (which

acts as negative catalyst).

6. Reaction of BeCl
2
 with LiAlH

4
 gives :

(a) AlCl
3

(b) BeH
2

(c) LiH (d) LiCl(e) BeAlH
4

Choose the correct answer from options given below :

(1) (a), (d) and (e) (2) (a), (b) and (d) (3) (d) and (e) (4) (b), (c) and (d)

BeCl
2
 ls LiAlH

4
 dh vfHkfØ;k nsrh gS :

(a) AlCl
3

(b) BeH
2

(c) LiH (d) LiCl(e) BeAlH
4

uhps fn, x, fodYiksa esa ls lgh mÙkj pqfu,A

(1) (a), (d) rFkk (e) (2) (a), (b) rFkk (d) (3) (d) rFkk (e) (4) (b), (c) rFkk (d)

Question ID:100166

Ans. Official Answer NTA (2)

Sol. 2BeCl
2
 + LiAlH

4
  2BeH

2
 + LiCl + AlCl

3

7. Borazine, also known as inorganic benzene, can be prepared by the reaction of 3–equivalents of “X” with 6–

equivalents of “Y”. “X” and “Y”, respectively are :

vdkcZfud csUthu ds uke ls Kkr cksjSt+hu]  “X” ds 3 rqY;kad dh vfHkfØ;k “Y” ds 6 rqY;kad ls djds rS;kj dh tk

ldrh gSA “X” RkFkk “Y” Øe'k : gSa %

(1) B(OH)
3
 and NH

3
(2) B

2
H

6
 and NH

3
(3) B

2
H

6
 and HN

3
(4) NH

3
 and B

2
O

3

Question ID:100167

Ans. Official Answer NTA (2)

Sol.
 

2 6 3 3 3 6
Borazine

3B H  + 6NH  2B N H



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 26 July  Shift-1

Page No. 6

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

8. Which of the given reactions is not an example of disproportionation reaction ?

fuEufyf[kr esa ls dkSu lh ,d vfHkfØ;k vlekuqikru dk mnkgj.k ugha gS ?

(1) 2H
2
O

2
  2H

2
O + O

2

(2) 2NO
2
 + H

2
O  HNO

3
 + HNO

2

(3) MnO
4
– + 4H+ + 3e–  MnO

2
 + 2H

2
O

(4) 3MnO
4

2– + 4H+  2MnO
4
– + MnO

2
 + 2H

2
O

Question ID:100168

Ans. Official Answer NTA (3)

Sol.
7 4

4 2 2MnO 4H 3e MnO 2H O
 

     

The above reaction involves the reduction of MnO
4
– to MnO

2
.

9. The dark purple colour of KMnO
4
 disappears in the titration with oxalic acid in acidic medium. The overall

change in the oxidation number of manganese in the reaction is :

KMnO
4 
dk xgjk cSaxuh jax vEyh; ek/;e esa vkWDlSfyd vEy ds lkFk vuqekiu esa yqIr gks tkrk gSA bl vfHkfØ;k esa

eSXuht+ dh vkWDlhdj.k la[;k esa lexz ifjorZu gS %

(1) 5 (2) 1 (3) 7 (4) 2

Question ID:100169

Ans. Official Answer NTA (1)

Sol. In acidic medium,

7
2

4MnO Mn


 

change in ox. no. = 5

10.
4Cl + CH A + B



A and B in the above atmospheric reaction step are :

(1) C
2
H

6
 and Cl

2
(2) 

2CHCl  and H
2

(3) 
3CH  and HCl (4) C

2
H

6
 and HCl

4Cl + CH A + B


 mi;ksDr ok;qeaMyh; vfHkfØ;k in esa] A rFkk B gSa %

(1) C
2
H

6
 rFkk Cl

2
(2) 

2CHCl  rFkk H
2

(3) 
3CH  rFkk HCl (4) C

2
H

6
 rFkk HCl

Question ID:100170

Ans. Official Answer NTA (3)

Sol.
4 3Cl CH CH HCl   
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11. Which technique among the following is most appropriate in separation of a mixture of 100 mg of p-nitrophenol

and picric acid ?

(1) Steam distillation (2) 2-5 ft long column of sillica gel

(3) Sublimation (4) Preparative TLC (Thin Layer Chromatography)

100 mg  p- ukbVªksQ+huky rFkk fifØd vEy ds feJ.k dks i`Fkd djus ds fy, fuEufyf[kr rduhdksa esa ls fdldh

mi;ksfxrk loksZÙke gS ?

(1) Hkki vklou (2) flfydk tsy dkye 2-5 ft yEckbZ dk

(3) Å/oZikru (4) fojpu TLC (iryh ijr o.kZys[ku)

Question ID:100171

Ans. Official Answer NTA (4)

Sol. Thin layer chromatography is a technique used to isolate non-volatile mixtures.

Hence, mixture of p-nitrophenol and Picric acid is separated by TLC.

12. The difference in the reaction of phenol with bomine in chloroform and bromine in water medium is due to :

(1) Hyperconjugation in substrate (2) Polarity of solvent

(3) Free radical formation (4) Electromeric effect the substrate

Q+huky dh czksehu ls DyksjksQkeZ esa vfHkfØ;k RkFkk bldh tyh; ek/;e esa czksehu ls vfHkfØ;k esa varj gksus dk dkj.k gS

%

(1) vfHkdkjd esa vfr la;qXeu (2) foyk;d dh /kqzo.krk

(3) eqDr ewYkdksa dk fopju (4) vfHkdkjd dk bySDVªksejh izHkko

Question ID:100172

Ans. Official Answer NTA (2)

Sol. OHOH

 Br

OH

 Br

2

2

Br

CHCl
 +

OH

 Br

OH

2

2

Br

H O


 Br

 Br



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 26 July  Shift-1

Page No. 8

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Difference in reactions is observed due to solvent polarity, which

(i) Ionizes phenol to make more reactive phenoxide ion

(ii) Increases electrophilicity of bromine.

13. Which of the following compounds is not aromatic ?

fuEufyf[kr esa ls dkSu lk ;kSfxd ,sjkseSfVd ugha gS ?

(1)  
(–)

(2) 


(3)   (4) 

Question ID:100173

Ans. Official Answer NTA (3)

Sol. [10] Annulene, although follow (4n + 2) electron rule, but it is non-aromatic due to its non planar nature. It is

nonplanar due to repulsion of C – H bonds present inside the ring.

14. The products formed in the following reaction, A and B are

fuEufyf[kr vfHkfØ;k esa cuus okys mRikn A RkFkk B gSa %

H CHO

O

3
2 4

+ –Ag NH OH NaBH
A B

  
  

   

(1) 

H CH OH2

O

A=

H CH OH2

B=

H OH

(2) 

H CHO

A=

H CH OH2

B=

H OHH OH
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(3) 

H COOH

O

A=

H

B=

H OH

COOH

(4) 

H COOH

O

A=

H CH OH2

B=

H OH

Question ID:100174

Ans. Official Answer NTA (3)

Sol.

H H COOH

H OH

COOH

O

H CHO

O

 3 2
Ag NH ] OH 



15. Which reactant will give following alcohol on reaction with one mole of phenyl magnesium bromide (PhMgBr)

followed by acidic hydrolysis?

3

Ph
|

Ph C OH
|
CH

 

vfHkfØ;d tks fuEufyf[kr ,sYdksgkWy

3

Ph
|

Ph C OH
|
CH

 

,d eksy Q+sfuy eSXuhf'k;e czksekbM (PhMgBr) ls vfHkfØ;k djds nsrk gS] og gS %

(1) 3CH C N  (2) Ph C N  (3) 3

O
||

CH C O Ph   (4) 
3Ph C CH

||
O

 

Question ID:100175



Question Paper With Text Solution (Chemistry)
JEE Main July 2022 | 26 July  Shift-1

Page No. 10

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Ans. Official Answer NTA (4)

Sol.

3

Ph Ph
| |H

C O Ph C O Ph C OH
| |

OH CH




      
3

Ph
P hMgBr

H C




16. The major product of the following reaction is

fuEufyf[kr vfHkfØ;k dk eq[; mRikn gS %

OCH3

O N2

 
 
 

3

3 2

i Na / liq.NH

ii CH CH OH


(1)  

OCH3H

O N2
(2) 

OCH3H

H N2
(3) 

OH

O N2 (4) 

OCH3

O N2

H

Question ID:100176

Ans. Official Answer NTA (1)

Sol. It is example of birch reduction. Birch reduction takes place at carbon connected with EWG(–NO
2
).

17. The correct stability order of the following diazonium salt is

fuEufyf[kr Mkb,tksfu;e yo.kksa ds LFkkf;Ro dk lgh Øe gS %

(a)  

+ –N Cl2

OCH3

(b) 

N Cl2

+ –

 NO2

(c) 

N Cl2

+ –

(d) 

N Cl2

+ –

 CN

(1) A > B > C > D (2) A > C > D > B (3) C > A > D > B (4) C > D > B > A

Question ID:100177

Ans. Official Answer NTA (2)

Sol. Diazonium salt containing aryl group directly linked to electron donating group is most stable due to resonance.

The +M effect stabilizes the intermediate whereas Electron withdrawing group destabilizes the intermediate at

para position.
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

N N

 N N

 


      

N N
 


:O – CH3

Most stable intermediate

+M effect of –OCH stabilizes
the positive charge.

3 

Order will be A > C > D > B.

18. Stearic acid and polyethylene glycol react to form which one of the following soap/s detergents ?

(1) Cationic detergent (2) Soap

(3) Anionic detergent (4) Non-ionic detergent

LVh,sfjd vEy rFkk ikyh,fFkyhu XykbdkWy dh vfHkfØ;k fuEufyf[kr esa ls fdl ,d dks cukrh gS ?

(1) /kuk;fud viektZd (2) lkcqu

(3) _.kk;fud viektZd (4) vuvk;fud viektZd

Question ID:100178

Ans. Official Answer NTA (4)

Sol. CH
3
(CH

2
)

16
COOH + HO(CH

2
CH

2
O)

n
CH

2
CH

2
OH

(Stearic acid) –H O2  (Polyethylene glycol)

CH
3
(CH

2
)

16
COO(CH

2
CH

2
O)

n
CH

2
CH

2
OH

The product do not contain any ion in their constitution hence it is a non-ionic detergent.

19. Which one of the following is a reducing sugar ?

fuEufyf[kr esa ls dkSu lh ,d vipk;h 'kdZjk gS ?

(1) HO–C–H
|

H–COH
|

H–C
|
H

H–C
|

H–C–OH
|

OH|

O
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(2) 

O H

H
H H

OH OH

OCH3

HOCH2

(3) 

O H

H
H H

OH OH

HOH2C OH

H
H H

OH OH

O

CH2OH

(4) 

CH2OH

HO

H

H

OH

OH

H

OH

OCH3

H

H

OCH3

Question ID:100179

Ans. Official Answer NTA (1)

Sol. If any sugar is having free –OH group at anomeric carbon then it will be a reducing sugar
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HO–C–H
|

H–C–OH
|

H–C
|
H

H–C
|

H–C–OH
|

OH
|

O

Free –OH group Anomeric carbon

20. Given below are two statements : one is labelled as Assertion (A) and the other is labelled as Assertion (R).

Assertion (A) : Experimental reaction of CH
3
Cl with aniline and anhydrous AlCl

3
 does not give 0 and p-

methylaniline.

Assertion (R) :  The –NH
2
 group of aniline becomes deactivating because of salt formation with anhydrous

AlCl
3
 and hence yields m-methyl aniline as the product.

In the light of the above statement, choose the most appropriate answer from the options given below.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

uhps nks dFku fn, x, gSaA ,d dks vfHkdFku (A) rFkk nwljs dks dkj.k (R) vafdr fd;k x;k gSA

vfHkdFku  (A) : futZyh; AlCl
3 
dh mifLFkfr esa  CH

3
Cl dh ,sfuyhu ls vfHkfØ;k izk;ksfxd :i ls djus ij 0 rFkk p-

esfFky ,sfuyhu ugha nsrh gSA

dkj.k (R) :  AlCl
3
 ls lkYV fojpu ds dkj.k ,sfuyhu dk –NH

2
 xzqi vlfØ;d gks tkrk gS] vRk % mRikn ds :i esa m-

esfFky ,sfuyhu dh yfC/k feyrh gSA

uhps fn, x, fodYiksa esa ls mijksDr dFkuksa ds fy, lokZf/kd mÙke mÙkj pquf,A

(1) (A) rFkk (R) nksuksa lR; gSa vkSj (R) lgh O;k[;k gS (A) dhA

(2) (A) rFkk (R) nksuksa lR; gSa ijUrq (R) lgh O;k[;k ugha gS (A) dhA

(3) (A) lR; gS] ijUrq (R) vlR; gSA

(4) (A) vlR; gS ijUrq (R) lR; gSA

Question ID:100180
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Ans. Official Answer NTA (3)

Sol.

(Deactivated ring)

 NH2

..
 NH AlCl2 3

+ –

Anhy
AlCl3

No Reaction

CH –Cl3

Friedel Craft Alkylation does not occur on this deactivated ring.

21. Chlorophyll extracted from the crushed green leaves was dissolved in water to make 2 L solution of Mg of

concentration 48 ppm. The number of atoms of Mg in this solution is x × 1020 atoms. The value of x is

__________. (Nearest Integer)

(Given : Atomic mass of Mg is 24 g mol–1; N
A
 = 6.02 × 1023 mol–1)

dqpyh gq;h gjh ifÙk;ksa ls fu"df"kZr DyksjksfQy dks ty esa ?kksydj 2 L foy;u] ftlesa Mg dh lkUnzrk 48 ppm gS]

cuk;k gS bl foy;u esa Mg ijek.kqvksa dh la[;k x × 1020 ijek.kq gSA x dk eku gS _______A (fudVre iw.kkZad esa)

(fn;k gS : Mg dh ijekf.od lagfr 24 g mol–1; N
A
 = 6.02 × 1023 mol–1)

Question ID:100181

Ans. Official Answer NTA (24)

Sol. In 2L  96 mg of Mg

Number of atoms of Mg 
3

A

96 10
N

24


 

  = 4 × 10–3 × 6 × 1023

  = 24 × 1020

x = 24

22. A mixture of hydrogen and oxygen contains 40% hydrogen by mass when the pressure is 2.2 bar. The partial

pressure of hydrogen is __________ bar. (Nearest Integer)

nkc 2.2 bar ij gkbMªkstu rFkk vkWDlhtu ds ,d feJ.k esaa lagfr ls 40% gkbMªkstu gSA gkbMªkstu dk vkaf'kd nkc gS

_______ bar A (fudVre iw.kkZad esa)

Question ID:100182

Ans. Official Answer NTA (2)
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Sol. Let 
2 2H H

40
W 40g n 20

2
   

2 2O O

60 15
W 60g n

32 8
   

2H

20
P 2.2

15
20

8

 
 

  
 
 

20
2.2

20 1.875
 



20
2.2

21.875
 

= 2.0114

~ 2.01 bar

23. The wavelength of an electron and a neutron will become equal when the velocity of the electron is x times the

velocity of neutron. The value of x is __________. (Nearest Integer)

(Mass of electron is 9.1 × 10–31 kg and mass of neutron is 1.6 × 10–27 kg)

bysDVªkWu dk osx U;wVªkWu ds osx dk x xquk gksus ij bysDVªkWu rFkk U;wVªkWu dh rjaxnS/;Z leku gks tkrh gSA x dk eku gS

_________A (fudVre iw.kkZad esa)

(bysDVªkWu dh lagfr 9.1 × 10–31 kg gS] U;wVªkWu dk nzO;eku 1.6 × 10–27 kg)

Question ID:100183

Ans. Official Answer NTA (1758)

Sol.
h

m
 



e n  

M
e
V

e
 = M

n
V

n

27

e n31

1.6 10
V V

9.1 10






 



= 1758.24 V
n

24. 2.4 g coal is burnt in a bomb calorimeter in excess of oxygen at 298 K and 1 atm pressure. The temperature of

the calorimeter rises from 298 K to 300 K. The enthalpy change during the combustion of coal is –x kJ mol–1.

The value of x is __________. (Nearest Integer)

(Given : Heat capacity of bomb calorimeter 20.0 kJ K–1. Assume coal to be pure carbon)

2.4 g dksy dk ngu vkWDlhtu dh vf/kdrk esa 298 K rFkk 1 atm nkc ij ce dSyksjhekih esa djrs gSa] rks dSyksjh ekih
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dk rki 298 K ls c<+dj 300 K gks tkrk gSA dksy  ds bl ngu esa ,UFkSYih ifjorZu –x kJ mol–1 gSA  x dk eku gS

_________A (fudVre iw.kkZad esa)

(fn;k gS : ce dSyksjhekih dh Å"ek/kkfjrk 20.0 kJ K–1 gSA dksy dks 'kw) dkcZu eku yhft,A)

Question ID:100184

Ans. Official Answer NTA (200)

Sol.
      o

2 2 c

g

C s O g CO g H ?

n 0

   

 

q
c
 = C

t
.T = 20 × 2

= 40 kJ

= 40,000 J

Mole of carbon 
2.4

0.2 mole
12

 

3

c

40 10
H 200 kJ

0.2


  

25. When 800 mL of 0.5 M nitric acid is heated in a beaker, its volume is reduced to half and 11.5 g of nitric acid

is evaporated. The molarity of the remaining nitric acid solution is x × 10–2 M. (Nearest Integer)

(Molar mass of nitric acid is 63 g mol–1)

0.5 M ukbfVªd vEy ds 800 mL dks ,d chdj esa xeZ fd;kA tc bldk vk;ru vk/kk gks x;k vkSj 11.5 g ukbfVªd

vEy mM+ x;k rc cps ukbfVªd vEy ds foy;u dh eksyjrk x × 10–2 M dk eku gS _______A (fudVre iw.kkZad esa)

(ukbfVªd vEy dh eksyj lagfr 63 g mol–1 gS)

Question ID:100185

Ans. Official Answer NTA (54)

Sol. m moles of HNO
3
 = 800 × 0.5

Moles of HNO
3
 = 400 × 10–3

= 0.4 moles

Weight of HNO
3
 = 0.4 × 63 g

= 25.2 g

Remaining acid = 25.2 – 11.5

= 13.7 g

13.7 1000
M

400 63





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137
0.54

252
 

= 54 × 10–2

26. At 298 K, the equilibrium constant is 2 × 1015 for the reaction :

Cu(s) + 2Ag+ (aq)   Cu2+ (aq) + 2Ag(s)

The equilibrium constant for the reaction

       21 1
Cu aq Ag s Cu s Ag aq

2 2
  

is x × 10–8. The value of x is __________. (Nearest Integer)

vfHkfØ;k

Cu(s) + 2Ag+ (aq)   Cu2+ (aq) + 2Ag(s)

ds fy,  298 K ij lkE; fLFkjkad 2 × 1015 gS rFkk vfHkfØ;k

       21 1
Cu aq Ag s Cu s Ag aq

2 2
  

ds fy, lkE; fLFkjkad x × 10–8 gS] x dk eku gS _________A (fudVre iw.kkZad esaa)

Question ID:100186

Ans. Official Answer NTA (2)

Sol.        2Cu s 2Ag aq Cu aq 2Ag s  

k = 2 × 1015

       21
Cu s Ag aq Cu aq 2Ag s

2
  

   
1 1

2 215

1 1
K '

K 2 10
 



= 2.23 × 10–8

x = 2
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27. The amount of charge in F (Faraday) required to obtain one mole of iron from Fe
3
O

4
 is __________. (Nearest

Integer)

Fe
3
O

4
 ls ,d eksy vk;ju izkIr djus ds fy, vko';d vkos'k dh ek=kk F (QSjkMs) esa gS ______A (fudVre iw.kkZad esa)

Question ID:100187

Ans. Official Answer NTA (3)

Sol.
3 4

8e
Fe O 3Fe




Charge for 1 mole Fe = 8/3 F

= 2.67 F

28. For a reaction A  2B + C the half lives are 100 s and 50 s when the concentration of reactant A is 0.5 and 1.0

mol L–1 respectively. The order of the reaction is __________. (Nearest Integer)

,d vfHkfØ;k A  2B + C ds fy, tc vfHkfØ;d A dh lkUnzrk Øe'k % 0.5 rFkk 1.0 mol L–1 gS] rks vFkZ vk;q gSa 100s

rFkk 50 s A vfHkfØ;k dh dksfV gS ________A (fudVre iw.kkZad esa)

Question ID:100188

Ans. Official Answer NTA (2)

Sol.  
1 n 1

2 0

1
t

A




 
 

n 1

1
100

0.5




 
 

n 1

1
50

1




 
n 1

1 1
2

0.5


 

  
 

   
1 n 1

2 2




n – 1 = 1
n = 2

order = 2

29. The difference between spin only magnetic moment values of [Co(H
2
O)

6
]Cl

2
 and [Cr(H

2
O)

6
]Cl

3
 is __________.

[Co(H
2
O)

6
]Cl

2
 rFkk [Cr(H

2
O)

6
]Cl

3
 ds fy, dsoy fLiu pqEcdh; vk?kw.kksZa ds eku ds e/; vUrj gS__________A

Question ID:100189

Ans. Official Answer NTA (0)
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Sol.    spin only n n 2 BM  

n = number of unpaired e–

  2 7 2,2,1 1,1
2 2 2g g6

Co H O Cl Co 3d t , e unpairede 3       

  3 3 1,1,1 0,0
2 3 2g g6

Cr H O Cl Cr 3d t , e unpairede 3       

so difference in magnetic moment = 0

30. In the presence of sunlight, benzene reacts with Cl
2
 to give product, X. The number of hydrogens in X is

__________.

lw;Z ds izdk'k dh mifLFkfr esa Cl
2
 ls csUt+hu vfHkfØ;k djds ,d mRikn X nsrh gSA X esa gkbMªkstuksa dh la[;k

gS________A

Question ID:100190

Ans. Official Answer NTA (6)

Sol.

Cl

+ 3Cl2

h

Cl

Cl Cl

Cl

Cl

(BHC)
Benzene Hexachloride
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